8 1
! I
! i
1 1
| 1
| 1
! Zimmer ]
! Zi Laminat
1 n..rm*r,:r g I m2 -—20‘;00
213, 1457 m2 ‘
140 !
i
: a5 2R
| l 8 Gang 0 *
10 Leminat 21
N ! $33m2. 3 2 Bad
| | N BRI e oo
215 Zimmer - =W 7.75m2 00
1407 Laminat 0 5| Fiolen
! N8 mz - S5 ez :
1 : 3 |
i ‘ . 3 1
H DAARAW |
| i
1 ——— - }
i
‘ 40
! Al we
Zimm, ; 7 -
23} aminar - L refen 8 Bad =
1401 ﬁ“"‘m
: &
i
L —
1
i
5 ] | 400
_?4 {:} Zimmer 100
0 Laminat |
1457 m2 !
1
675 1090 . ==
0425 565 oy 25 25410
Zimmer
Leminat
1296 m2
* 8|~
%0 VR 50
1 210 Flosen G
] S[2\ serme
38\ F=%118F
Zu Sy = L2l Tchnik Bokiz [2
T NI e [ e
SN N =
¥ L1 LD
A RIS .
SRS 4 0
SITTHEAS
NI/% Bad
E NS - Technik [t0) el Jo B
= A Pipsen et B
T, 24m: I+
: o = T le 1P
8|2 g2 Vi 5
' = v I
esen 25 Ll
1 L ] b4rm2 5
1 1 1 =
Bt [ s AE
R | 1 Ohnkiche * =4
T Lamingt =]
e H+- L1 3150 m2
B [T 5
— Zimmer &
3 09 Leminat
| o0} 1296 m2
B

|

og[ T 15T




